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« User-defined hierarchies are navigation paths within a dimension
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— [Customer].[Customer Geography].[Country].[USA].[WA].[Issaquah].
— [Rob Zare]

— ([Customer].[Country].[Country].&[USA],

— [Customer].[State-Province].[State-Province].[WA],
— [Customer].[City].[City].[Issaquah],

— [Customer].[Full Name].[Full Name].[Rob Zare])

*With forthcoming caveat MSDN/Webcasts
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— SQL Server 2005 MDX[##% Lo
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o AERT R B TEA BT AE 22 dE AT A -
— There are no Female customers named Joakim. Therefore,
the tuple (Name.Joakim, Gender.Female) does not exist.
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e Auto Exists ( HZEIAF4E)
— 151~

» Select {State.WA} * City.Members...
— Returns WA crossjoined with cities in WA

» Select (Date.[Calendar Year].[2003] *

. Date.[Calendar Quarter].Members)....
— Returns 2003 crossjoined with quarters in 2003
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— Select Customers.[All Customers].BC.Children...

— VS.

— Select Customers.[State Province].BC *
Customers.City.Members...
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» Commands executed in order of definition
— Most commands result in automatic creation a new Pass
— Deprecation of Solve Order
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o WML T HE P AIML %A@ ( Order and Pass )

— Most commands/calculations in the script are
automatically applied in a new pass

— Previous pass value used when a calculation relies on its
own value:
o RORFEAR TP 1”& A B Al etk
— Measures.Sales = Measures.Sales * 1.1

— Quarters = Years /4
» In both cases, 7 —~Pass{i H T FH 11 TG MR 12 -

- 2P nNE 2] cell (BITk) , formula with highest
Pass (last writer) wins

— Solve Order is deprecated but can still be specified to
override execution order implied by MDX Script

MSDN!Webcasts'
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 Cube-as-Spreadsheet

C U SRR RN KM 2 i Excel TIER
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— Data for leaf cells (fact data)

— WA EREIEM T HIoks ( non-leaf cells )
— F ) B XA (MDX Script) 8 7€ SAETHEHIT

o i )5 5 NItk A % (Last writer to a given cell wins )
— More on this later...
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e CALCULATE Command i} &4

— BNF: Calculate [<subcube>]

» Unspecified subcube implies current cube subcube
— At the beginning of the script, current subcube = entire cube

* Has no effect on calculated members
— Controls aggregation of non-leaf data in the cube by
populating each cell in specified scope (subcube) with
aggregated data

— In the absence of Calculate and user-defined formulas, a
cube contains only leaf/fact (Pass 0) data

— Calculations designer adds this by default as first
command in the script.
« Leave In-place to get “default” aggregation behavior as in Shiloh

MSDN!Webcasts'
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« SCOPE | END SCOPE
— BNF: SCOPE(<subcube definition>);
<assignment statement>;

END SCOPE;

— Enable targeting calculations to a subset (subcube) of
the cube space

— If no scope Is specified, the default scope is the entire
cube

— Assignment replaces calculated cells
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e Nested SCOPE Commands (ERTEE 6 2)
— ATREVFE R TTH
— RIAERT AN E R EECE, A NAZTE AT 48 A&

Scope(Customers.Country.USA);
Scope(Customers.State.Or);
Scope(Customers.Gender.Male);
<Current scope is USA, OR, Male, or “Male customers in OR, USA">
End Scope;
End Scope;
End Scope;

— EEAESVE A AT DU E Y A SR IR

Scope(Customers.Country.USA);
Scope(Customers.State.Or);
Scope(Customers.State.Wa);
<Current scope is WA, USA>
End Scope;
<Current scope is OR, USA>
End Scope;
End Scope;
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« Old:
CREATE MEMBER
CURRENTCUBE.[MEASURES].[Profit]
AS [Measures].[Sales] - [Measures].[Cost],
FORMAT_STRING = "Standard",
VISIBLE =1 ;

e New:
Create Profit = Sales — Cost

— EE%EAIEE
— HIDDEN 8 - hR i A8 7 m Ul
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Select Measures.Sales...
Where (Customers.Country.USA,

x|\

- OR’

Customers.Country.Canada)
56 AN 22 K R AH & 20
BSR4 R

. Select <column> From <table> Where <cond1> OR <cond2>

« Select <set>on 0 From <cube> Where (<tuplel>, <tuple2>)
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Member->Tuple>Set (. Jodl. £5)
« And vice versa (i.e., no longer need to use .ltem)

Ta] 46 1)1 5 MDX
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select customer.state.usa on 0*
from sales
where (customer.education.graduate, customer.education.undergraduate)**
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e SQL 2000 virtual cubes: How to insure that the value
for (All) is used for dimensions not in common
across cubes?

— Solution: ValidMeasure() Function

Yukon: Often have > 1 measure group with differing
dimensionality

— Solution: Built-in ValidMeasure behaviour

» On by default
» Property = IgnoreUnrelatedDimensions

MSDN!Webcasts'
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 Dimension Property = MDXMissingMemberMode
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Solves the “Excel Problem” (i i€ 22 4 i (1)

WITH MEMBER Time.Year.XL_1 AS
‘Aggregate({Time.Year.2003, Time.2004})
SELECT Measures.DistinctCustomerCount on 0

FROM Sales
WHERE Time.Year.XL_1

o CEPEREM RIS R
Returns the distinct customer count in 2003 and 2004 (not the sum

of the distinct counts in each year)
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Install the latest IDW Build
%2 SQL 2005 Books Online
Full Tutonal

o SQL 2005 #7 [#H 41 Newsgroups
— Microsoft.Beta.Yukon.*
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http://www.microsoft.com/china/msdn
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http://www.msdnwebcast.com.cn

MSDN Flash
http://www.microsoft.com/china/newsletter/case/
msdn.aspx

MSDN FF & H
http://www.microsoft.com/china/msdn/Developer
Center/default. mspx
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